PCBiEE
PCB Card Guides

PCBHItR
PCB Card Pullers

RITRE
Latch Caps

VRN
Latchs

5
Handles

NI F
Box Handles

A=l i A
Packaging Accessories




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

Rit s RS HNMRIR B RPCRI
AL E %A -

« Unit: mm
I 89 |
‘ 64.5 ‘ I
&) 1 03
>Q o< 2
23.7(x2) 0 Part No. | Package
¥ 19 CGBC-89 | 250
( ] minss
(sp]
— i —— —
' v T ‘@ (@]
=& 0= o -
-1 ~H=1
@3 07.6 ~ D it i ettt g el | ettt W s H::L;L iy
‘ ———t ] D @D
(- I R | ‘ i
t & ! B ' MOUNT SCREW M3
o
Part No. | Package Part No. A B C |D|E| T | Package
CGBB-100| 250 CGB-100L [100.0| 77.0{10.0|7.2|5.4|2.2
CGB-120 |119.0| 94.5| 9.8/4.5(3.0|1.9 250
CGB-140 [139.8|114.5| 9.7|4.3(2.8|1.9
CGB-160 [158.7(135.0| 9.7|4.3(2.8|1.9
- Material: PC+ABS (UL) Fig ¢ B ZOCP3.0R M # A XAPCR L >
+ Flame Class: 94V-0 R HFAE o
- Color: Black
+ Unit: mm
o !
o i 105 «°
=, B
11 )
N @2(X6) N *H*Z'*l Part No. | Package
%QH—T T T T o CGQ-105 | 250
<=}
I 41.8 i 41.8 i 6.7 o~
- Material: Nylon 66 (UL) A& BEPCRAMM L » ®EFIE
+ Flame Class: 94V-2/94V-0 S BB 4% o
« Color: Natural/Black
+ Unit: mm
10.2 ~—30 — 10.2
| 90.7 |, ! 1«21.8*1 1 i+
B <= ———= - o
> 1
- EREE 001 B
******* ¥ I I T——
i L F=——— =
@3.4 52 ¥ | |
Y - B %Q@A 52y
| | < f
4 o | 76.4 <
o
MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.2 THICKNESS 1.2
Part No. | Package Part No. | Package
CG-9A 250 CG-9AL 250




Aig : BlEPCRAHBR L REFIE >
2% o
+ Material: Nylon 66 (UL) B
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
——25.8 —
I 90 | *
| - .
=5 55— 5 s
T f
LT Lg_t i are
777777777777 G ;ﬁfo %ﬂ
0 <
@3.4 5.2
}
s
1 76.7 J-
MOUNTING HOLE ” MOUNTING HOLE
THICKNESS 1.2 THICKNESS 0.8
Part No. | Package Part No. | Package
CG-9B 250 CG-25 500
™
—2%— , | 89.8 =
1 g ! ‘
T b N
. 22 Ly L
© [ M | «© %@
13 - Bl
:;- * <
:®34 %«4 @3.3~®3.45@7
i ]
? 18& 3.4 h 7685 ‘
MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.2 THICKNESS 1.2~2.3
Part No. | Package Part No. | Package
CG-26 500 CG-9D 500
| 102.8 |
sl SS—a Neus) =3
= Sl £
~-1.2~2.3
ﬁé\AL—waw———ﬂuer—unrﬁ %ﬁ
-
3.6 P .
4:@ } :% art No. | Package
| 91.9 | CG-10A 250
N N
« MOUNTING HOLE <
THICKNESS 1.6~2.2
« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
» Color: Black
« Unit: mm
@/03.25-@3.33 ./(33.25~QJS.33
! 161.9 »Hlks'46~5'54 Part No. | Package
CGE-169 500

MOUNTING HOLE
THICKNESS 1.5~1.8




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

A B EPCRAEZ L

R IR o

g -3

o2 A

A 4
(@)
DS
i 1
————— B—
5 =% Wi
2 @3.4 52&7
L—B—J L3.2~3.4
MOUNTING HOLE
THICKNESS: T
Part No. A| B |C|D|E T Package
CG-38 [38.0(25.4(6.4(4.5(3.2]0.8~1.2
CG-38L [38.0(25.4(9.6(4.6(3.0(1.0~1.6
CG-50 |50.8(38.0(6.4(4.5(3.2]0.8~1.2| 500
CG-50S |50.8(38.0(6.4[2.5[1.2]0.8~1.2
CG-90S [88.9]76.2]6.4]2.8]1.5(0.8~1.2
| A |2
| | < Part No. A B | Package
= — CG-250 | 635] 508] -
* 421 CG-300 | 76.2| 63.5
[ N N I CG-350 | 88.9] 76.2
¥
O S gE ' CG-400 |101.6] 88.9] >0
CG-450 |114.3]101.6
@32 52ﬁ¥ CG-500 [127.0[1143]
} CG-550 |139.7(127.0
MOUNTING HOLE CG-600 |152.4(139.7
THICKNESS 0.8~1.2
1143 $ 76.2 $
| ]
21 ~1.9
[ N H%ﬂ = ot oty
5 aw - YA
o <t — <t
3.2 5.2~ ~ 4.6 5.7+
'
ﬂ}/ & @%
| 101.6 ~ | 50.8 S
o <
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8~1.2 THICKNESS 1.2~2.3
Part No. | Package Part No. | Package
CG-450S | 500 CG-300L | 500
| 43 * 1.6
(o)
F b L
Wl % MOUNTING HOLE
0 THICKNESS 1.2
I PartNo. | Package
CGC-43 500

HAR -




PCB# i PCB CARDGUIDE Rk BRPCHI ML £

+ Material: PC (UL) RIRHK o
+ Flame Class: 94V-2
« Color: Black
 Unit: mm * 734 ﬂ .
——: P
T 7 — :r’_
~ 15 MOUNTING HOLE
15 o THICKNESS 1.0
N

6.
1.5

U U > Part No. | Package
CG-15 1000

= o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
| 153.8 ;’
C= el |
N : ~22
I ——— g w
™ ©
< =
@ 4 @3.4
:# ] _ \@ PartNo. | Package
1 140.8 ! CG-153 100
MOUNTING HOLE
THICKNESS 1.2
| 63.5 .
5 >
T
‘ - At
L = [} ‘4—{7 ﬂ%]
o0
T_{;TS.S @4.5~, Part No. | Package
CG-63 500
38.1
MOUNTING HOLE
THICKNESS 0.8
76.8 $
!
. *H*Z.Z
===l :ﬂ?:ﬂ?iqﬁ:Jﬂ_‘rEﬁ%‘—r I %
® b
~ s
™ 4 @3.4\
ﬂg 2o Part No. | Package
| 62.5 | CG-77 500
MOUNTING HOLE
THICKNESS 1.0
| 110 %
= i
[ I i
- SR ﬂ%
— <
4 @3.4\%} PartNo. | Package
L 1016 | CG-110 100
o

MOUNTING HOLE
THICKNESS 0.8~1.2

3-4




Mg : BZPCHRWMA L #EFIE

2 o
+ Material: Nylon 66 (UL) B
+ Flame Class: 94V-2/94V-0
- Color: Natural/Black
N - w7
E— ——am
i 120 iE 191 N
=] | oo :Oi:i]@i\;
| 95 | 422 23
e =t g e T U
Gl T g Ry
< - 0
=T aEAE &
o | 80 | \-23.8 . 177.4 | ~@3.4
o o
MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.6 THICKNESS 1.2
Part No. | Package Part No. | Package
CG-120 100 CG-191 100
| 217.8 n | 218 12
SI = £ l:\ \ilj
‘r
2.5 Ly el
! ! I N \ W T_1 1
L/g ***** = @%\ » %‘ 5 = SLL o
T2 -——105.6— R
1 44 6544
& pLs estas
- \ ARy
i 205 | -@3.4 o 205 AN
<
MOUNTING HOLE S MOUNTING HOLE
THICKNESS 1.2 THICKNESS 1.2 .
- Material: PC
- Color: Black
Part No. | Package Part No. | Package
CG-218 100 CGF-218 100
I A i
]
|>\l ] - i S
f
i
L ——— S ————— E—
5 5 LL W m
[ cG-203]
aF -~ GD
@/—— T
| B T
MOUNTING HOLE
THICKNESS 1.2~2.3
Part No. A B |[D|E| F | G | H | Package
CG-203 |203.2|177.8|3.2(1.9|4.6 |5.4 |4.6 100
CG-600A |152.4|127.0|3.2|1.3]4.75|6.4 |4.62 200
CG-650 |164.1/139.7|4.4(1.2|4.57|5.71|4.47
CG-700 |177.8]|152.4|3.2|1.3|4.75|6.35|4.62
CG-700A |177.8|152.4|13.2|1.3|4.5 |5.6 |4.4 100
CG-750 190.5|165.1|3.2|1.3|4.57|5.71|4.47




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

A% BEPCRNEH L BREFTAE

« Unit: mm
45 .
(o]
. P
- 1] LA Part No. | Package
t f -
U S o \ a CG-45 1000
@4.6 @4.7
E— MOUNTING HOLE
k23— THICKNESS 1.6~1.8
| | @
‘ 110 ‘i
= =
23
H o + %IHL Part No. | Package
2 . CGLJ-110 | 500
@3.4 4’H~:t
%{77777 r MOUNTING HOLE
| 101.6 3 THICKNESS 1.2
89.2 ; | 103 N
o [ |2
! 2.3 a 2.8
L Lt L —— % L34 ]
§ SN H%] & g b4 %
qu T /- 03.4 55—, "
% MOUNTING HOLE T *e? MOUNTING HOLE
| 76.7 | THICKNESS 0.8 I 89.5 1 2 THICKNESS: T
Part No. T | Package
Part No. Package CGDLA-102 |1.0 500
CGDLA-350 250 CGDLA-102L|1.5
A 7
] I i
Lot
I —— 1l o I%
& & o
{B[QF fs.ﬁ{—j4 -
L MOUNTING HOLE
| B i THICKNESS 1.2~2.3
Part No. A B | C | D | F |H]|T ]| Package
BCG-250 | 63.5/38.1]6.35|6.35(4.8 [4.8|2.2 500
BCG-450 |{114.3/88.9/6.4 |6.4 [4.75]4.6|2.0
| | | |
| 190.5 N \ 62.7 PL
pE= 2 ) 2
~H-1.9 ~H-2.1
e e e =t % VLT e — — — — 447‘ It
= L3 B 5 L ®
43 S 3 41 Sa
o
f—r5.97 [®4.37 ?4.3 5.6m
HET o ——
r~ —153.2— MOUNTING HOLE ~—37.7— MOUNTING HOLE
<~
Part No. | Package Part No. | Package
FR-190 500 FR-250 500




Mg BZPCARHEAR L » REFE

PCB# 4% PCB CARD GUIDE

4 o
+ Material: Nylon 66 (UL) B
« Flame Class: 94V-0+GF
- Color: Black
« Unit: mm
114.3
= 199 o
ZTH*N ™
= ==
12.7- 76.6 2.59 <
|
\_g4.37 3.38ij':. Part No. | Package
<~ CGG-114 250
MOUNTING HOLE
- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
ri 139.7 4ﬂ o
= \ =B
4 2
e————Y———=] ¥
N~
o <
@[gil?ﬁﬁﬁﬁﬁﬁi?fg‘:t PartNo. | Package
| 127 | CG-140 | 250
MOUNTING HOLE “
THICKNESS 0.8~2.0
A <
| | ©
B =1
~H-2.2
e R
™10
— <
3.2 5.2 PartNo. | A | B | Package
AP & CGA-63 [635[50.8]
‘ LS CGA-89 [88.9]76.2
MOUNTING HOLE
THICKNESS 1.6
[Te)
N 0
| 76.2 | © | 102.3 | ¢
= ] = =
.H*Z'Yl p oy 28
— =+ u =S
~ N <
@0 ™ ™ <
@3.2 5.55 ¥ @3.3 5.5
ros2 ey s s
Lsms% ~ ‘ 89.5 |
[92] o
MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.6 THICKNESS 1.2~2.2
Part No. | Package Part No. | Package
CGA-76 500 CGA-102 250




A B EPCRAEZ L

» BRI

« Material: Nylon 66 (UL) B
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
| A © | A K3
= =i = =t
— — I | - I,
5 o1 =) ® " Qp%} T
- 3(2) b -~ 3(x2) <
OF ~1155(2) [32(x2) OF —~-5.54 ~3.05
b— 4= d— et
MOUNTING HOLE MOUNTING HOLE
THICKNESS: T THICKNESS: T
[ CGA-178S ]
Part No. A |C|E| F |I J T Package
CGA-178S(177.8|6.4|3.2|3.18(2.0| 82.55(1.2~2.2 200
CGA-178 (178.5/6.5|3.1(3.3 [2.8| 83.0 [1.2~2.2
CGA-203 (203.2]6.2(3.2|3.2 |2.0| 95.2 |1.2~2.0| 100
CGA-217 |(217.0/6.5|3.1|3.3 |2.8(102.0 |1.2~2.2| 200

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
i 280 ; ‘
= =5
| 2415 23— !
140 i L
X ——4—\ %T‘i%
@3.2~H - o
+ Material: Nylon 66 (UL) g -
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
| ’

‘ 4
=D =L
Lo Ay =y — - — =+

S S o d b
- 119.8 + 119.8 <
~3.5~3.6

?3.5~@3.6
i

MOUNTING HOLE
THICKNESS 2.0

327.8 *
~—T \I o
LI 'T
[}
—— — — — =
= = i
1512 —+—151.20— o

<42
- -
56

MOUNTING HOLE

4.24{EL

Rt ABKENEKR > B EPCRD

WAt £ o> REFAE o

*H*Z.G

Part No.

Package

CGS-280

100

ZPCR M7 L

~H-2.4

» BRI

=B

Part No. | Package
CG-280 100
Part No. | Package
FR-1300 100




R BEPCRAEB L > BREFAE

% o
+ Material: Nylon 66 (UL) IR
- Flame Class; 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
8
140 Z iz.a
‘ =t |
‘ T T : ‘ ™~
qp qb *
@4.4
EN e
P P
L1145 — Part No. | Package
MOUNTING HOLE CGA-140 | 100
THICKNESS 1.6
| A
\ ‘
W
73
@f' : €@ MOUNTING HOLE
1 B | THICKNESS: T
Part No. A|B|C|D|E]|F T Package
CGLA-4 38.4(20.0/9.216.4(3.4|3.2|1.6~1.7
CGLA-4(1) [38.4]20.0/9.2|6.4(3.4(3.2| 1.0
CGLA-4(2) |38.4]20.0/9.2|6.4(3.4|3.2| 2.0 500
CGLA-4S 140.0(20.0(8.0/6.0]3.0|3.0| 1.6
CGLA-6 51.0(38.2]9.216.4]3.4|3.2|1.6~1.7
CGLA-8 81.0/60.0/8.0/6.0(3.0/3.0(1.6~1.8
CGLA-8(2) (81.0]60.0/8.0(6.0|3.0|3.0(1.8~2.1
CGLA-8(8) |81.0(60.0/8.0/6.0({3.0(3.0| 1.8 250
CGLA-8(25)|81.0(60.0/8.0/6.0(3.0(3.0| 2.5
CGLA-9(1) |91.5/71.0/8.0(6.0|3.0|3.0(1.6~1.8
CGLA-9(2) |91.5/71.0/8.0(6.0(3.0(3.0(1.8~2.1
6.4 3 A
| 6 o~ %3.7 38.4 o 3k
— N ‘ ‘ >
T T T o (o]
= 5 B ‘FL 5] jﬂ T
. 9.2 -
JQS A== 32 73 ﬂ4*
}
382 ﬁ[ &
Part No. | Package ~20 Part No. | Package
MOUNTING HOLE
MOUNTING HOLE
THICKNESS 1.6 CGLA-10 200 THICKNESS 1.0 CGLA-11 500
. s . ‘M -
57 NJ 2 57 ~N 2
o] [ee)
«w ® * i i *
—25.4——20.4 — 25.4 —-—20.4 —
MOUNTING HOLE @3.0 Part No. | Package MOUNTING HOLE @3.0 Part No. | Package
THICKNESS 1.8 CGDLA-57 | 500 THICKNESS 1.8 CGDLB-57| 500




Rig : BEPCRAMMZ L REFIE

- Material: Nylon 66 (UL) R -

+ Flame Class: 94V-2/94V-0

« Color: Black PCB CARD2
« Unit: mm PCB CARD1

- 7.86
‘ 151.9 ‘ PV

b < o T 2.24(x2)

‘ = %

= W S iq; # 7% Assembly Diagram
o

| 126.9

24.37 5.38 w
Ve N
1

127 | 0.7: PartNo. | Package
< CGDLA152L| 200
MOUNTING HOLE
6.4
A 04L *k‘S
© W f PartNo. | A | B | C | Package
3 A CGL-4 |38.4{20.0{2.0] 500
AL M0 LoUNTING HOLE CGL-8 [81.0]60.0[25] 250
& THICKNESS 1.3
B
- *LG
| | ]
| 81 ‘N ~3
= — .
—
J ) 45 f
105~

’LL‘% Part No. | Package

/%3 7 CGLC-8 | 500
N i MOUNTING HOLE

F—60 — THICKNESS 1.8

- Material: Nylon 66 (UL) A& : B EICFRPCRLE » REHIE >
+ Flame Class: 94V-2/94V-0 G R o
« Color: Black
+ Unit: mm
| 30 | 5.1
S =T
L U U ao
— M
5+ 20 |
MOUNTING HOLE 2.0 PartNo. | Package
THICKNESS 1.6 CGLC-30 500
6.4 6.4
| 32.2 o, e | 32.2 o 13.6
p =t~ D =t~
thi(? W,‘f?
—
% %% ‘: J U0 o
~6~14 - 4 -6
MOUNTING HOLE @2.0 MOUNTING HOLE @2.0
THICKNESS 1.6 THICKNESS 1.6
Part No. | Package Part No. | Package

CGLC-32-1] 500 CGLC-32-2] 500




PCB# 4% PCB CARD GUIDE

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

it Bl ZPCHRAN A L » HEF1E >

+ Unit: mm 6
| 120 <, ¢ 3
=% =
7k
i i T
a3 ﬂ‘t
50 & Part No. T | Package
MOUNTING HOLE CGLC-120 16-18 ),
THICKNESS: T CGLC-1205] 1.0
‘ 152.4 | 9 ‘ 152.4 | Tﬁ
| : BN 2.2 | : \5:. ‘o, %
= = = \14_'? = = = ‘ﬁL’?
éf®4.37 5.5’@5t @4.37 5.38*@*

1 127 L 127 —
MOUNTING HOLE ~ MOUNTING HOLE ~
THICKNESS 1.2~2.0 THICKNESS 1.2~2.3
Part No. | Package Part No. | Package
CGLQ-153 250 CGLC-153 250

22 7.87
‘ 50.8 {4 © 2.16
‘ =
= =
o o
@4.37 5.38 =
. . o
\@ ! Part No. | Package
A G CGLC-50.8| 1000
MOUNTING HOLE
THICKNESS 1.2~2.3
« Material: ABS (UL)
+ Flame Class: 94V-0
. Co!or: Black 30 -8 -
« Unit: mm o \ -
— (;" o
=7 |
il b—T f
@3(x2) 0 3
0 &
—20— Part No. | Package
MOUNTING HOLE CG-30 500
THICKNESS 1.6
« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
42 ~ 12
|
£ — e
| 50 | J+*3
[ Part No. | Package
] -—20— g CGLD-50 500
20 @3

MOUNTING HOLE
THICKNESS 1.6

7.9
2.2



PCBi# 4 PCB CARD GUIDE

- Material: Nylon 66 (UL)
- Flame Class: 94V-2/94V-0

« Color: Natural/Black
+ Unit: mm

I L 3
[
) I =+
15
A il T Part No. | Package
i 1 T CGLG-47 1000
| 47 |
100
I —— e
© © o N ™
T 1 I
RESFtIs
,/\r -] = = = ﬁ *‘ ﬁl
T ] - - l123
Edge 4.2+
) - 3 Da% Part No. | Package
@2.2 +~@3.1 ) CGLI-100 1000

RECOMMEND MOUNTING HOLE
RECOMMEND THICKNESS 1.6

Mg BZPCARHEAR L » REFE

« Body Material: PC+ABS (UL)

A& Bl ZOCP3.0MR N H# M RPCK L »

+ Nut Material: Brass ZHEFIE o
« Flame Class: 94V-0
- Color: Black
« Unit: mm
113
o ‘ 83.6 o
5 a8 RS
:I: [ ® [ Jf
INSERT NUT(X3)
o M2x0.4P
$ 4.79@; 2
= Ty ;*
RECOMMEND MATING PCB THICKNESS 1.6\ — w
83.6
T A8 S02.2(x5) Part No. | Package
’B'g ] CGLM-7-M2| 250
41.8
RECOMMEND MOUNTING HOLE IN HOST PCB
- Material: Nylon 66 (UL)
- Flame Class: 94V-0
- Color: Black
+ Unit: mm
3
112 'T
= =i
§ W7.16
? 24.3 H+2.25
; = o Ji# " Part No. | Package
4.802) 5 <297 [ CGLN-9 | 250

83.6




- Material: PC+ABS (UL)
« Flame Class: 94V-0

Rit : H

E £ OCP3.0/&R A #3 RPCH £ »
RHE AR o

« Color: Black
« Unit: mm
©
113 7
— o }
o 625
@3.2 © = 211
e 3 ==+ | O PartNo. | Package
| 83.6 N gorpe H504 [COLM-IN | 250
© ™
113 7 113 2
—n e ! —r 0 !
= 6.25 - 6.25
@3.2 © = 2.1 @3.1 © 2.1
= =11 == = g
Y N \@C =% N
| 83.6 "\ INSERT NUT ~--5.04 83.6 "\ INSERT NUT —~--5.04
M3X0.5P(x2) M3X0.5P(X2)
Part No. | Package Part No. | Package
CGLM-1 250 CGLM-2 250
| 113 | | 113 |
o ‘ﬁ = “6.25 T T = -6.25
@3.2 j < 211 QT -h-2.11
% N7 = | A =% N =l | al
| 83.6 |\ THREADED o504 | 83.6 | \“THREADED  —~H-2.54
INSERT NUT(x2) INSERT NUT(x3)
Part No. Thread | Package Part No. Thread | Package
CGLM-113 M3x0.5P 250 CGLN-113 M3x0.5P 250
CGLM-113-M2 | M2x0.4P CGLN-113-M2 | M2X0.4P
- Body Material: PC+ABS (UL)
 Nut Material: Brass
+ Flame Class: 94V-0
« Color: Black
+ Unit: mm
111.71
83.6 ©
—41.8 — S8
2 S=aE
THREADED Jo12 -
INSERT NUT(X3)
2 5
© o
= =S
RECOMMEND MATING PCB THICKNESS 1.6 - w
F 83.6 | Part No. | Thread | Package
41.8 ——~@2.2(x2) CGLM-5 | M3x0.5P
o /\ . COLM5M2 | M2x0.4P| 20
20.9 |- Z82.7(3)
~—41.8 —

RECOMMEND MOUNTING HOLE IN HOST PCB



PCB 4% PCB CARD GUIDE A& : Bl £ OCP3.04R % A K PCIR £ »

>
» Material: PC+ABS (UL) BRI
+ Flame Class: 94V-0
« Color: Black
+ Unit: mm

| |

| 13 |

PO — ) —qm— s
RECOMMEND MOUNTING THICKNESS 1.6

= 7.08
© 3 e 2.65
G O o 1y oo Iy ﬁi"’
18 N &C
| 83.6 |\ THREADED 3,051

INSERT NUT(x3)

RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. Thread | Package
CGLN-2 M3x0.5P 250
CGLN-2-M2 | M2x0.4P

- Material: PC+ABS (UL)
+ Nut Material: Brass
+ Flame Class: 94V-0

« Color: Black

« Unit: mm
- 113 -
[ — 0 (@4a)@ mma—il

MOUNTING THICKNESS 1.6

“ 6.14
e S W&l
T - =
83.6 INSERT NUT(x3) 1.75-f-

M2x0.4P

RECOMMEND MOUNTING THICKNESS 2.4~2.7

?2.3 3.5(X2) -
L
41.8(x2) 2.3(x2) PartNo. | Package

RECOMMEND MOUNTING HOLE -6-
RECOMMEND THICKNESS 2.4~2.7 CGLN-6-M2 250

- Material: PC+ABS (UL)
+ Flame Class: 94V-0
+ Color: Black
 Unit: mm
[ 113 ‘
[ 100 i
D2+
ST T
RECOMMEND MOUNTING THICKNESS 1.6

~-+1.08
@1.7(x3) * ~H1-2.65

[ gy L= O o 1Y — 5
‘_u*r/ i \:‘Uir_‘L

\ 83.6 |

3.05

—
o
—

RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. | Package
CGLN-3 250




A%+ B ZOCP3.0MR A H M XPCK L -
ZH

- Material: PC+ABS (UL) AR

+ Flame Class: 94V-0
« Color: Black
« Unit: mm

| 13 |
RECOMMEND MOUNTING THICKNESS 1.6

~4.2(x2) @3.2 L 2.65++-2.73
] Ty e o & 10—~ o ‘
| 83.6 < 305
=

RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. | Package

CGLN-5 | 250
- Material: PC+ABS (UL)
+ Flame Class: 94V-0
- Color: Black
+ Unit: mm
- Patented (& #| &)
113
|
" THREADED
INSERT NUT(x2 \
@3.2%\ (x2)
© 4
e M K.Y PAT. = © 3
T
o
o
F = ‘_ T =3 <r
PR e — gy m— o=l I
Installation Guide RECOMMEND MATING PCB THICKNESS 1.6

RECOMMEND HOST PCB THICKNESS 1.6~2.4

Part No. Thread | Package
% CGLP-3F M3x0.5P 100
CGLP-3F-M2| M2x0.4P
|« 3» |«
T , 113
(L I 83.6 ‘
® o ™ THREADED
15) J o INSERT NUT(x3)
= - g C B
x M 5 0 Mm@ K.Y PAT. =3
B et
=
[ “.‘ ' T =
= [?Lﬁu T ‘1‘} UU W T HEH%
g RECOMMEND MATING PCB THICKNESS 1.6
\ RECOMMEND HOST PCB THICKNESS 1.6~2.4
' ! ol
f i
2 Host PCB Edge X 2 Host PCB Edge \ Part No. Thread | Package
MATING PCB MATING PCB Y CGLP-5F M3X0.5P 100
CGLP-5F-M2 | M2x0.4P




Rt B ZOCP3.0R MM RPCK £ »

>
- Material: PC+ABS (UL) ERITR
- Pin Material: Nylon 66 (UL)
 Flame Class: 94V-0
 Nut Material: Brass
« Spring Material: Nickel Plated SWP
« Color: Black
« Pin Color: Blue
+ Unit: mm
« Patented (% 4] &)

[ 736
-
- > Part No. Package
S

7;'\0
o= CGLP-4F-M2 | 100
INSERT NUT(x2)
M2x0.4P
12.5(CLOSE) -  —15(0OPEN)
PIN
™ - = —22.1
(oo}
© SPRING ]
== ' +

RECOMMEND MOUNTING THICKNESS 1.6

RECOMMEND MOUNTING THICKNESS 1.6~

- Material: PC+ABS (UL)
+ Flame Class: 94V-0
 Nut Material: Brass

« Body Color: Black

+ Pin Color: Blue

« Unit: mm
- Patented Under Process (& #| & 3% +)
111.71
[ 83.6
418 — e
®) PY 5 j%
¥.7 PAT. i @O%i } 30
INSERT NUT(x2) 55:2 ‘
M2x0.4P 19.7(CLOSE) [
1% B LA
Installation Guide i T To— Hl
334 — 4
RECOMMEND MATING PCB THICKNESS 1.6
|
‘ 83.6 418 Part No. Package
¢L K & CGLP-8F-M2 100
@2.7(x2) @2.2
RECOMMEND MOUNTING HOLE IN HOST PCB
- Material: Nylon 66 (UL) it Bl ZPCHR A AXPCIR L »
+ Flame Class: 94V-2/94V-0 B AR > F % o
« Color: Natural/Black
+ Unit: mm
15.2

45

»W«z.z —
3 & i
. drak

PC MOUNTING HOLE MOUNTING HOLE

Part No. | Package
THICKNESS 1.0~2.0 CGH-1 500




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

Rt : B ERPCRABBRPCAKR L » &

AR > BB o

8- 4.7
1 «‘1.6 ﬂ‘4.5 -
Ls;;‘ o 6
o f 4 «T e
s 5 / ©o I L
S Vo4 Ft
=N el / <
] } MOUNTING HOLE
o i { l THICKNESS 2.0
j /H\ =
‘ IR T%TL PCB DIM. Part No. | Package
- 14 - ~13.2 CGHI-1 500
n
<
-3.2 7.87 ~
TH- !
<
i MOUNTING HOLE
! THICKNESS 0.76~1.78
I i |
. mam @ ‘ PartNo. | A | B | Package
mrm : CGHE-22.4[22.4[22.0
o |1l IR CGHE-34.9(34.9|34.5|
@E; TYPICAL BOARD |CGHE-47.5[47.5|47.1
| ol & curout CGHE-73 |73.0]72.6
< Part No. A | Package
79 ¥ CGHC-25.4 [25.4
iy CGHC-38.1|38.1| 500
=7 MOUNTING HOLE CGHC-50.8 |50.8
\/ THICKNESS 0.8~1.8 CGHC-76.2]76.2] 200
545 545
T%T 2 395 7»}— 2 |+3.95
j{ 0 TI
Sy = i - 6.25
47 EDF l = ﬁuss
| - '

MOUNTING HOLE

-1 9.5 - ~9—- THICKNESS 1.2~1.8 -
Part No. | Package
CGH-31 500

(=]

-9 —~|

il

9.5

t

MOUNTING HOLE
THICKNESS 2.0~3.0

Part No.

Package

CGH-31L

500




Aig : Bl EPCRABBLAPCR L » ®
i s 2 o
« Material: Nylon 66 (UL) KR R %
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
*4‘+ NEA
5.5~ 25+ ~5.5(~ 2.5**7* ‘
PANEL o PANEL |f 0
THICKNESS ] ? THICKNESS N
1.6 l 1.6 l
+ = — =
O = N
3 \%L;f 2 I
~ 95 - -9 ~ 9.5 - -9
BOARD THICKNESS 1.2~1.8 BOARD THICKNESS 2.0~3.0
-7 6%
N~
5550 S5,
0 ¥ o
-1 T
MOUNTING HOLE MOUNTING HOLE
Part No. | Package Part No. | Package
CGH-37 1000 CGH-37L 1000
@4 ~-2
Cq}: o] | OT
[{e]
S 3
i L J
W ‘g :2‘ 0\63 PartNo. | Package
T2 OUNTING HOLE CGC-1 250
15l
- Material: PC+ABS (UL) R ¢ B AR % B R PCR M HIXXPC
+ Flame Class: 94V-2 Rl REERR  RRKE o
- Color: Black/Blue
+ Unit: mm
S1es
-H-2.5
i
EIE
[Te)
3
Part No. | Package
1 CGHA-65 | 500
Edge
X
BRA“SAS %‘8? MOUNTING HOLE

THICKNESS 1.6

®
-] 12%\%.3

MOUNTING HOLE



PCB# % PCB CARD GUIDE it B4 B R PCH A APC

, o2 uE , -
+ Material: PC+ABS (UL) Wi ZEFE  FR%E

+ Flame Class: 94V-2/94V-0
« Color: Black/Blue

 Unit: mm
N 2.5
1A
Il
<
S }
@2.3
5.6
0
«©
[Te]
M3x0.5P Part No. | Package
BRASS NUT T Edue CGHB-65 | 500
SR :
12 =233 MOUNTING HOLE
MOUNTING HOLE THICKNESS 1.6
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
A9 6l
il 45
< QS.SJ‘OK(MB
o MOUNTING HOLE
L 3 Part No. A B | Package
L1L CGH-90 | 77.2| 89.2| 200
115 M3X0.5P CGH-130 |118.5(130.0| 100
BRASS NUT
++6.07
m 0
10++-4.5
ST
t T
-1
o~
= 47 q\ <
< @1.7(x2) ~\-@3.2
| MOUNTING HOLE
L s THICKNESS 0.8~1.0
LEJ Part No. | Package
410.5 M3X0.5P N
BRASS NUT CGHB-90 1000
- Material: Nylon 66 (UL) A&« Bl RPCRNEAR £ » RI0°TF R
+ Flame Class: 94V-2/94V-0 o
« Color: Natural/Black
+ Unit: mm
-—10.7 @1(x2)
=R
= I &
- T
PCB 1.6 L6 \g3

i o MOUNTING HOLE
~ THICKNESS 1.6~1.8
TL 1
2.5 —"

Part No. | Package
ULCG-1 1000




PCBi# 4 PCB CARD GUIDE

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

s

MOUNTING HOLE @2.2
THICKNESS 1.6

R =
J#z#w

—
@44~

(2)6

MOUNTING HOLE @4.3
THICKNESS 1.6~2.0

PartNo. | A | Package
CGB-2 |2.0
CGB-6 |4.8

2000

25.32

- 16.26 —

MOUNTING HOLE
THICKNESS 1.2

it Bl ZPCHRA A L » HE IR >

R o
h4.2
3.4
| 5
+i o
& v
° Part No. | Package
ULCG-2 1000
2.9~
'
N
.
-
a7
15‘44 L‘”
gag
QG
MOUNTING HOLE @4.5
THICKNESS 1.6
+ Flame Class: 94HB
« Color: Black
Part No. | Package
CGB-3.2 2000
~8.09 -

=2

Part No. | Package
INTEC-1 500

PCB#i4% PCB CARD PULLER

+ Material: POM (UL)
+ Flame Class: 94HB
« Pin Material: Steel

« Color: Natural 31.2—
« Unit: mm
n
o
—
P o4
6.4
sl
©
(252.8~®3J€B

MOUNTING HOLE

By

Rt : MPCBE A A » T HiEBPC
AR SR o

ks

T
<
=

~H-2
o

WQZ.S
m% Part No. | Package
o CP-15 | 1000

PIN




PCB#L4% PCB CARD PULLER i

« Material: Nylon 66 (UL)/POM (UL)
+ Flame Class: 94HB/94V-2/94V-0
+ Pin Material: Steel

+ Color: Natural/Black

P LPCBE MG AL A 0 T H ik B PC
AR AL R o

+ Unit: mm [ 282 B3
MT
™
©
i
A
22.4 -2
6.4 N
e @2.5
Lo
J@ ? < Part No. | Package
02.8-03 . ops T 1000
MOUNTING HOLE PIN -
- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0 %ZB.Zﬂ ~7.9F
« Pin Material: Steel 28— 63~ +—
3 « Color: Natural/Black - w0
e 3
R a L p2a 2% Ui
@2.4 ~H-2 g3l
o 6.4-143+ /@22 ©
6.4, 025 %f 028
T I b- s I
22.8~23 -F 228 o ©
MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package
CP-20 1000 CP-30 1000
298 62
T
i qlw
o N~
— —
1 ul
-2
©) 0
6.35 ~H-22.6 @25
i 4
st Tk I e Eg
: < @2.8~@3 -+
MOUNTING HOLE PIN MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package PartNo. | A | B | C | Package
CP-90 1000 CP-37 500 CP-38 7.316.4(2.0 500
CP-38L |8.8(8.0(3.5
~——31.2
11 ~—20.7 8.5~
11 o 39.4 9.4 | N \T
H@J < C/—% T ) ™
Jt* ~ ®»g N\ | T D ©
o0 @Q ¢ T T\ n
@2.5 »EH;LM 23 i Lgo6 & oa
17 6.4 o 9.5 23.2 ~16.4 g6
g 025 W i *Hﬁﬂﬂi : e e
< © o %‘D ™
@&Q2.8~®3 BL‘F 3.6 T p28-03 " DD%”
MOUNTING HOLE PIN MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package Part No. | Package
CP-47 500 CP-50 500 CP-70 1000

il




PCB4i#% PCB CARD PULLER Rig : #PCBEM A& > THREHKPC

. Material: POM (UL) Al i SRE
+ Flame Class: 94HB
+ Pin Material: Steel
- Color: Black 4526 IHTZSS
« Unit: mm ) .
i
N\ S
3 T
22.6 o Part No. | Package
g2'5.&+::‘? CP-72 500
PIN

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Pin Material: Steel

+ Color: Natural/Black

« Unit: mm
249 e
9.5 - ‘

@2.4
£ﬂ+ [¢] @ <
< @2.5+ @25+
© 4
T <
®\QJ2.8 - I
MOUNTING HOLE PIN PIN
Part No. | Package Part No. | Package
CP-82 1000 CP-84 1000
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
)
348 — ;
~[7.5
<
«\ Part No. | Package
o 22.8~03 CP-35 500
o
MOUNTING HOLE

- Material: PC+ABS (UL)
« Flame Class: 94V-0
« Color: Gray/Orange

« Unit: mm

7 |

5

4~
23
5
Part No. | Package Part No. | Package
CP-76 1000 CP-77 1000




LRAART > A E

Assembly parts are for reference only.

BEAR T L E

Assembly parts are for reference only.

EEAR T RS %

Assembly parts are for reference only.

LR A

Assembly parts are for reference only.

- Material: TPR

B

- Material: TPE (UL)
« Flame Class: 94V-0
« Color: Black

« Unit: mm

1.52

+ Material: Santoprenr
« Color: Black
« Unit: mm

20—

=t

Olgﬁ
481 20

- Material: Nylon 66 (UL)

+ Color: Black
« Unit: mm
ﬁ 15 ﬁ ‘«7*
T ]
o 1
— ~
' S
1=0.7

« Flame Class: 94V-2/94V-0

« Color: Black
« Unit: mm

ﬁ15.24

"—'*6.91

g : A #a 2 ik o

Assembly Part

; 7 Part No. | Package
S HANE-59 | 500
Assembly Part
Part No. A B | C | Package
HANE-21 |15.52|8.64|4.06 250
HANE-21L |15.2 9.2 |3.9
Assembly Part
—{10.1
3.3
Lt
e 2
saka i}
2.8 *
THICKNESS 0.8
Part No. | Package
HANE-35 250
Assembly Part
o i 4
4 N~
1 0 Eos
© T
o
é 0
o BN
& =
S
Part No. | Package
HANE-77 250




g : A #a 2 ik o

« Material: PC+ABS (UL)

+ Flame Class: 94V-2/94V-0

« Color: Black

+ Unit: mm

Assembly Part

'
D#
:

e
169+ o

¥

~—15.2 —~

KBRS 5 F
Assembly parts are for reference only.

Part No. | Package

HANE-24 250

Assembly Part

~{12.36 |-

« Color: Black/Green

Part No. | Package

HANE-40 1000

- Material: PC+ABS (UL)

« Flame Class: 94V-2/94V-0
+ Color: Black

« Unit: mm

Assembly Part

E
C

5

RERMR T L
Assembly parts are for reference only.

Part No. A B C D| E| F | H|T| Package
HANE18 [18.47[18.29|15.24|1.24|5.08|7.11|3.56|1.0
HANE18LV |18.47|18.29|15.24|1.4 |5.08|7.11|3.56|1.2| 250
HANE29 |18.5 |18.3 |15.1 |1.2 |5.1 |7.0 |3.2 |1.0

Assembly Part
‘%19.1%‘ 4‘5.3‘*
il i ¥
<t © (9p]
H E ]2’ ®
Lo ' i
»Ll.s ©
~—17.5— - - «7'
31 P S 136+ o
+ [

BERAER ST 25
Assembly parts are for reference only. Part No. Package

HANE-32 1000




4% # LATCH CAP Aik AR 2 A -

« Material: PC+ABS (UL)
+ Flame Class: 94V-2/94V-0
- Color: Black
+ Unit: mm
Assembly Part
~—18.3 —
T 1 T
L ~ L
o — O 1o
— —
| |
REARS  {EE 5% ~
Assembly parts are for reference only. i
CD

:jih :F Part No. | Package

a1 HANE-33 | 1000

Assembly Part

g -
:*Ej:*:
:‘%—iaaﬁn)i& s fE 4t S « Color: Black/Blue/Purple/Green
Assembly parts are for reference only. Part No. A BlCclD T Package

HANE-36 [20.5]18.0/4.0/1.0]0.8~1.0
HANE-48 [20.5/18.0|4.0/1.2| 1.2
HANE-55 |20.5|18.0/3.7/1.0]0.8~1.0
HANE-69 |20.7/18.2|14.0/1.0] 1.0

1000

+ Material: PC (UL)
+ Flame Class: 94V-0
+ Color: Red/Blue

l « Unit: mm

Part No. | Package

KEM4R T E#ELF HANE-113 | 1000

Assembly parts are for reference only.

« Material: PC+ABS (UL)
« Flame Class: 94V-2
- Color: Black/Gray
« Unit: mm
15 57 Assembly Part
_ ; N 5# B @1.5
! ] T
I ] ([ s
} o b
l 9 o Part No. | Package
—+-1.05 -
ERAART g sE 2 . HANE-58 1000

Assembly parts are for reference only.




A% % LATCH CAP

+ Material: TPE

- Color: Black/Orange

+ Unit: mm

WSJ [~
3 ]

g s R Ma 2 ik o

Assembly Part

i \ F
- [ )=
N 4

Ba Rt AL o ~4.1- Part No. | Package
Assembly parts are for reference only. — — HANE-23 1000
:I:Iﬁ:iﬁ
- Material: TPE (UL)
« Flame Class: 94V-0
« Color: Black/Orange
« Unit: mm
Assembly Part
i 21
‘; 1 I T f
© @ ~ ™
T A
REARS » 5% o
Assembly parts are for reference only. 1.4 H4.95 PartNo. | Package
0 HANE-37 1000
-
gﬁ THICKNESS 0.8
Assembly Part
15— j4.8’*
+— T —
bz 3+l
— - gk
z Part No. | Package
= puc HANE-75 1000
REAR S » 5%
Assembly parts are for reference only.
- Material: Nylon 66 (UL) A% ARRHEBRIAR -
: « Flame Class: 94V-2/94V-0
AT - Color: Black
« Unit: mm
12 -6 |- Assembly Part
it L [
o o S
l‘l" T | ;
REAR T o S E I 2 23 Part No. | Package
Assembly parts are for reference only. ~ g HANE-26 1000
i
=t




A% % LATCH CAP

.

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Black

g s R Ma 2 ik o

EoRMER T EHEF

+ Unit: mm
ri Assembly Part
: 12 ©
s il T
S =
ﬂ )/ i 3
]' ' / 262 Part No. | Package
BRAER T s (Bt 4% h g T HANE-38 1000
Assembly parts are for reference only. @‘:?%
- Material: PC+ABS (UL)
+ Flame Class: 94V-0
- Color: Black/Blue
O « Unit: mm
b - .
- 1 20.5 —| 3.7 Assembly Part
] & T
3 0 ﬂ] w 9
b P
Jl10 o o Part No. | Package
S = HANE-74 1000
BRAFR T 0 kS =
Assembly parts are for reference only.
- Material: PC+ABS (UL)
+ Flame Class: 94V-0
« Color: Orange
+ Unit: mm
Assembly Part
20.5 4 -1
RN E -
l - . o
—t f S 41555 - o Part No. | Package
! :::4% HANE-120| 1000
REEAR S » B 5% —1
Assembly parts are for reference only.
- Material: Nylon 66 (UL)
- Flame Class: 94V-2/94V-0
- Color: Black
« Unit: mm
Assembly Part
16 5.1 o
m I B
0= (= ;
n — —+ - Part No. | Package
1+ o o w HANE-49 | 1000
45 <@
— S
- Material: Silicon Rubber (UL)
+ Flame Class: 94V-0
- Color: Black
« Unit: mm
Assembly Part
ﬁ 15.6 —
[HE SER..
pat o
o} 4
Part No. | Package
HANE-121| 1000
—

Assembly parts are for reference only.

ok



BERAR ST S
Assembly parts are for reference only.

BEAER T o S
Assembly parts are for reference only.

BEER T > 4%
Assembly parts are for reference only.

+ Material: PC+ABS (UL)
+ Flame Class: 94V-0
« Color: Black

« Unit: mm

- Material: PC+ABS
« Color: Black
+ Unit: mm

~-10.2

]

| E—

127

1

- Material: Nylon 66 (UL)
» Flame Class: 94V-2/94V-0

 Color: Black
+ Unit: mm

th.lS*‘

|
127

- Material: PP (UL)

+ Flame Class: 94V-0

« Color: Blue
+ Unit: mm

—17.6 —

g : A #a 2 ik o

Assembly Part

'
=8

i
5T19.15ﬁ jf'
s|
T

Assembly Part

Assembly Part

Assembly Part

Part No. | Package
HANE-97 | 1000

Part No. | Package

HANE-27 | 1000

Part No. | Package
HANE-72 | 1000
Part No. | Package

HANE-111 | 1000




BEAMR T > 4%
Assembly parts are for reference only.

-~

KBRS 5 F
Assembly parts are for reference only.

BERAR T o S
Assembly parts are for reference only.

* Material: PC+ABS (UL)
+ Flame Class: 94V-0
+ Color: Black

ik AR AL o

« Unit: mm
~—18.5 — —~t-1.25 Assembly Part
i |
R | 2 9
L |
N~
o S[138+ o Part No. | Package
= b HANE-98 | 1000
Ak
16.95—~ *©
+ Material: PC (UL)/ABS
+ Flame Class: 94V-2/94V-0
- Color: Black/Orange
« Unit: mm
~—13.9 —
i
<<
M| -
Assembly Part
— @C
E//V @ S H ot
: : LU‘JFF ju_r
?2.3 !
THICKNESS: T
PartNo. | A|C | D |E | F | T | Package
HANE-46 |7.8(3.2(6.6(2.6|3.4|0.6
HANE-76 |5.0(4.0|/7.0|3.0/3.5|0.7| 1000
HANE-108 |5.2(4.0({7.0({3.0/3.5|0.8
+ Material: TPV
- Color: Black
« Unit: mm
Assembly Part
c2024 o FL6 155
SN 4
O 1z [z &l |
- (o] (o2}
— =7 f T
Part No. | Package
@4 A HANE-22 250
© F>)
3 %@ =]
7‘;'-’ %!
- Material: PC+ABS (UL)
« Flame Class: 94V-0
« Color: Black
« Unit: mm
Assembly Part
o
4 3.57«;4
Pk C ™
[ee]
Tk f
Part No. | Package
N HANE-41 250




BEAERT o RS
Assembly parts are for reference only.

1 *‘\'\':‘if. -

REMR T 5%
Assembly parts are for reference only.

REAER T s

Assembly parts are for reference only.

KEMRT » L F

Assembly parts are for reference only.

g : A #a 2 ik o

« Material: PC+ABS (UL)
+ Flame Class: 94V-2/94V-0

« Material: Nylon 66 (UL)
« Flame Class; 94V-2/94V-0

« Color: Black
+ Unit: mm
3.5 2.8
gmm
o
1
F—11.5 —
f
|z
N~
b

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

« Unit: mm

- Patented (& #1 &)

k?.Gﬂ

M

—11.7 —

- Color: Black/Orange Assembly Part
+ Unit: mm
0 *‘10.05*
T )y ]
~ m < 9
¥ "
22 2.5 1 4
—15.2— © Part No. | Package
- o HANE-34 | 1000
[y PR
1 1 f
+ Material: Nylon 66 (UL)
- Flame Class: 94V-2/94V-0 Assembly Part
- Color: Black ~10.4
* Unit: mm 9.1
kll.?ﬁ (
nn | T ) © o
o m |
[T
— f 7 -
7.1+ : ==
o 7
f
ok Part No. | Package
\ o HANE-30 1000

Assembly Part

-—10.2
88 1o

Part No.

Package

HANE-103

1000

Assembly Part

~—10.4
9.1

0.7*H1

R

IE

[ 1

e

Part No.

Package

HANE-86

1000




Hrim & LATCH CAP Bk BRME2 R o

« Material: PC+ABS (UL)

« Flame Class: 94V-2/94V-0

- Color: Hot Plug Red

+ Unit: mm Assembly Part

4*_‘;
boosaodq O
© 0 @ ©® @ ¢ © [ee]
< 9.6
¥ 96 o
412 tm:ﬁz(j%
%ﬁa'ﬁ:}{q‘ 4 4§'{%%%— E T ———
Assembly parts are for reference only. ; © H 5
1 = | Part No. | Package
<272 4.2 HANE-53 1000

- Material: PC+ABS (UL)
« Flame Class: 94V-0

+ Color: Red

 Unit: mm

Part No. | Package

HANE-118 | 1000

$iL AR LATCH P

- Material: PC+ABS (UL)
« Flame Class: 94V-0
+ Color: Black

‘\ + Unit: mm
F =
’ -
e ﬁﬂ_i - _
7 o
. = STAINLESS STEEL
‘ 3 [ &)
< | &
—

Part No. | Package

*::::: Ly
= | Jools HANE-64 | 200
© B

—
o
2 STAINLESS STEEL

413 ; 88.77 — - Color: Red
:::l:: Lt Part No. Package
p— T EE S HANE-104| 200
T




HL A% LATCH

g s R Ma 2 ik o

« Material: PC+ABS (UL)
+ Flame Class: 94V-0
+ Color: Black/Red

& A Unit: mm
\,Em“
N o STAINLESS STEEL
iR
S Part No. | Package
S HANE-67 200
;
f& + HANDLE Rig s AR B o

- Material: PC+ABS (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Black

+ Unit: mm

Part No. A | B | C | D | Package
HAND-25 ]40.0{32.0{3.2 |9.5
HAND-25-1 140.0{32.0{4.1 |9.5
T HAND-38 ]38.0(30.0{3.2 |9.5

w0 HAND-41 ]38.0{30.0{4.0 |9.5

i HAND-41L |38.3]30.0{4.05/9.8

HAND-47 |40.0(32.0{4.2 |9.5

250

« Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

« Unit: mm

Part No. | Package
HAND-53 100

453 041 K 45.3 7@4@2)

MOUNTING HOLE

Part No. | Package
HANU-92 250

5 —43%




& F HANDLE Bk : BRME2 R o

« Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

« Unit: mm

ﬁ 45.3 WWXZ)

MOUNTING HOLE

Part No. | Package
HANU-91 250

« Material: Nylon 66 (UL)
« Flame Class: 94V-0
- Color: Black
« Unit: mm
Part No. | Package
23.2(x4) HANU-73 250
+ Material: PC+ABS (UL)
+ Flame Class: 94V-0
- Color: Gray
« Unit: mm
38.4 —
N (V]
-t @ N
] o © o~
— i
-— 25.6 — < 146 - Part No. | Package
32 HANU-82 250
+ Material: PC+ABS (UL)
- Flame Class: 94V-0
- Color: Black
« Unit: mm
[ |
[ J
!
R
SCHNN S N
A
% g ‘I‘ Part No. | Package
| HAND-73 100
I




g : A #a 2 ik o

« Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

 Unit: mm

T—
~ 295

84.36
@5 s s
o= = =
< |l
8 g N I
| T 1 [E
P 72.3
Part No. | Package Part No. | Package
HAND-27 100 HAND-34 250
- Material: Nylon 66 (UL) A AR RKARZ ML & AF -
« Flame Class: 94HB
« Color: Black
+ Unit: mm
117 .
&l =
@85+ |
®13.SJ
0
T
[
"y @z Part No. | Package
1 3 i HAND-70 | 100
| 134 Lo
©
- Material: PC (UL) A& AAEARIIK -
« Flame Class: 94V-2/94V-0
« Color: Black o
« Unit: mm 0
61.5 3
LT |
@3.2(X2) ~H-
1.5
T
b Part No. | Package
- B HAND-80-1| 250
| 71.53 |
[ [ ]
M [©]
~~@3.2
'——~f8.23
‘F
[{e]
S
N~
N
i
Part No. | Package Part No. A | C | D | Package
HAND-79 250 HAND-10 |53.4]12.5|3.7 250
HAND-74 |51.5|/11.6|3.6




g : A #a 2 ik o

« Material: PC (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

 Unit: mm

e

Part No.

-+5.08

HAND-82

+ Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

« Unit: mm

3.6
Y
Package Part No. A B © D | E| F | Package
100 HAND-51 |43.63|29.97|11.68|2.62|7.4(26.41
HAND-51L |43.63|30.67|13.0 |2.62|7.8|26.41 250
HAND-54 |41.63|29.98|11.68|2.62|7.4(26.42
HAND-55 [34.59|29.98|11.68|2.6 |7.1|26.42
* Material: PC+ABS (UL)
+ Flame Class: 94V-0
- Color: Juniper Blue/Juniper Orange
+ Unit: mm
hﬁS.OS
Lo
© 8
Lo
ot |
g7 g2.62(x2)
Part No. | Package
HAND-99 100
* Body Material: Silicon Rubber
* Metal Material: Zinc Plated SPCC
- Color: Black
« Unit: mm
¢+3
T
0
3
0
S Part No. | Package
HAND-71 500




g R Ma 2 il o

« Body Material: PC+ABS (UL)

+ Metal Material: Zinc Plated SPCC
+ Body Flame Class: 94V-2/94V-0

- Color: Black

+ Unit: mm

Part No. A | B | C | D | Package

HAND-30 |71.5/61.5]22.0(8.0 250
HAND-31 |51.6/41.6]21.0(9.0

+ Body Material: PC+ABS (UL)
+ Metal Material: Zinc Plated SPCC
- Body Flame Class: 94V-2/94V-0

- Color: Black
+ Unit: mm
2 A
| s, ] !
v S
o8y
<
O
gl Part No. | Package
el HAND-29 | 250
THREAD M2.5X0.45P '
39.2
L
o
2YT
[S2INQN)
é u N Part No. | Package
HAND-84 250
=y
—~7.5+

THREAD M2.5x0.45P

+ Body Material: PC+ABS (UL)
+ Metal Material: SGCC
- Body Flame Class: 94V-0
- Color: Black
+ Unit: mm
‘ 40
BODY
1 32.8
METAL Part No. | Package
HANU-83 1000

\ 33.6



« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

 Unit: mm

39.8

‘P 27.3 —

M2.5X0.45P
BRASS NUT

+ Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

 Unit: mm

’_7 39.2 4"

- 26.3 -
375 -

_

-—29.6—ab-

M3x0.5P
BRASS NUT

]
n N
82 -
| ® &
| l
- 31.4 024
g5
Part No. | Package
HANU-71 250

- Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

+ Unit: mm

g : A #a 2 ik o

R
N
2 o
ol N oo
LS
|
‘ %32-8 Part No. | Package
J gl HANU-34 | 100
o2l
| - L PartNo. | Package
8 HANU-139 | 250
~—39.2 8]
0
~ <
T 2 ~
L 1P
el 1
| i ij
~—31.4 —r—3.1 @2.4
dgl
o8-
Part No. | Package
HANU-138 250
Part No. | Package
HANU-27U 250




g : A #a 2 ik o

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black/Blue

 Unit: mm

Part No. | Package

HAND-87 1000

+ Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black
« Unit: mm
N |
o
1 o
— 30 — M3x0.5P
BRASS NUT Part No. B | C | Package
© HANU-108|27.0(20.0 250
7.2 g8 HANU-114 [34.0[27.0
@:6%
+ Material: Nylon 66 (UL)/PC+ABS (UL)/PC (UL)
+ Flame Class: 94HB/94V-2/94V-0
« Color: Black
« Unit: mm
. |
(@] (@)
THREADED THREADED
o BRASS NUT BRASS NUT
(S
@ — ©1t
[ HANU-130, HANU-154, HANU-155 ]
Part No. A | B | C | D| Thread | Package Part No. A | B | C | D| Thread | Package
HANU-40 40.0/30.0(23.7 (6.3 HANU-109 [29.0[40.0|33.0|7.0 40
HANU-48 48.0(32.0(25.7|6.3 M3X0.5P 250 HANU-111 |40.0/30.0(24.0(6.0 250
HANU-51 51.0132.0(25.7 /6.3 ' HANU-115 |54.0(29.9(23.0(6.9 100
HANU-70-1 |51.0|38.7|31.7|7.0 HANU-123 [48.0(26.0|19.7|6.3
HANU-70 51.0138.7(31.7|7.0 200 HANU-125 [26.0(25.0|19.5|5.5 M3X0.5P
HANU-72 51.5/45.0(38.0|7.3|6-32 UNC HANU-126 [45.3]22.5|17.0|5.5 '
HANU-76-632 |32.0|22.5|15.5|7.0 HANU-128 [25.0(28.5|22.2|6.3 250
HANU-76 32.0122.5[15.5|7.0 250 HANU-130 {30.2(29.3|23.0/6.3
HANU-77 32.0129.3(23.0(6.3 M3X0.5P HANU-154 [31.3]29.0(|22.6|6.4
HANU-97 32.0123.3]17.0/6.3 ' HANU-155 [29.9(49.0|42.0|7.0
HANU-107 32.0/40.0(33.0|7.0




-

- Material: PC+ABS (UL)/PC (UL)
+ Flame Class: 94V-2/94V-0

« Color: Black

« Unit: mm

g : A #a 2 ik o

I o I A
| e
B T
A
Nk Part No. A | B | C | Package
SR HANU-30PN |30.0/25.0/19.5|
j HANU-32VB [32.0[28.422.9
L
o o
o~ N
N
| l
/ b3
M3x0.5P o
BRASS NUT < Part No. | Package
« Material: PC+ABS (UL)
- Flame Class: 94V-0
- Color: Black
+ Unit: mm
- Patented (& #| &)
f
o~
o M
bS8
~ 4
3603 — M3x0.5P
BRASS NUT Part No. | Package
ST, HANU-142| 250
o) Oﬁg
- Material: PC+ABS (UL)
- Flame Class: 94V-0
« Color: Gray
+ Unit: mm
r
=&
o
N
-7
36 — “Lmsxosp
BRASS NUT Part No. | Package
' HANU-137 250
& Qe




LT T o,

]

il

4

ﬁunm

'Inl._..

|

|

R R A o

« Material: PC+ABS (UL)
+ Flame Class: 94V-0

« Color: Black

 Unit: mm

[ HANU-102-1 ] Part No. A | B | Package
HANU-102 [32.9(34.9 250
) HANU-102-1[33.035.0
+ Material: PC+ABS (UL)
+ Flame Class: 94V-0
« Color: Black
+ Unit: mm
4-40 UNC
BRASS NUT 254 PartNo. | Package
— HANU-103 250
[o[T_Tlo
L 7.2
32.4
- Body Material: Nylon 66 (UL)+GF Rig : AREARZIE > FEAETH
- Flame Class: 94V-0 B KEHLEM -

- Screw Material: Brass(Nickel Plated)
- Color: Black
+ Unit: mm

Part No.
HANUL-2F

Package
100

BRASS - --l-g7 J M3X0.5P BRASS— @7
-3 —

Part No. Package Part No. Package

HANUL-3NF| 100 HANUL-16F| 100




M3X0.5P(x2)

 Material:

PC (UL)

+ Flame Class: 94V-2/94V-0
- Color: Transparent

 Unit: mm

34.66 —

STEEL NUT
»‘4‘«
@Mf?
L 38 —
« Finish: NI Plated w
Part No. Package
HANU-173M3| 250

g : A #a 2 ik o

— 1 |1
0 &
P 8 F
= |
o e
22.5(x2) .
B Part No. | Package
HANU-173 250
— o~ t |

22.6(x2)

335
34.66

- 10

7.4

) !

™~

. jﬂ b &

= s

T T
| (92.8(x2) @4“,
i A N~
© 5 i
P 4638 — 3 T

—— 5538 ——

L

Part No. | Package
HANU-172 250

Part No. | Package
HANU-80 200

Part No. | Package
HANU-117 100




{e + HANDLE

« Material: PC (UL)
+ Flame Class: 94V-2

- Color: Black
+ Unit: mm
*H*Z ?1.5 ﬂ3+ 3 .
[oe] [ee]
i 0 De
-2 -9 *
\ 90
« Material: PC+ABS (UL)
« Flame Class: 94V-0
« Color: Black
« Unit: mm
© ©
97 1S4
114 -1 \ an

26-32 UNC BRASS NUT

- Material: PC (UL)

+ Flame Class: 94V-0
« Color: Black

« Unit: mm

i

6-32 UNC BRASS NUT

210.8
711.6

-

g s R Ma 2 ik o

Part No. | Package
HANI-90 100
Part No. | Package
HANI-96 100
Part No. | Package
HANI-119 50

+ Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

- Patented (& 4l &)

g ARPCAR XM Z I -

04 N

%o
g5k

MOUNTING HOLE
THICKNESS 2.2~2.4

®6E 4
i N
12 -

MOUNTING HOLE

THICKNESS 1.0~1.6

Part No. | Package
HANT-1 1000
Part No. | Package
HANT-2 1000




{e + HANDLE

- Material: Nylon 66 (UL)
+ Flame Class: 94V-0

« Color: Blue

« Unit: mm

- Patented (& #] &)

AR ARPCHRARMAEZ K -

7AY
A\
5.55%\ j; INSTALLATION
SCREW
THREAD
&
10 Part No. Thread | Package
RECOMMEND MOUNTING HOLE HANT-3 M3x0.5P
RECOMMEND THICKNESS HANT-3-1 |[M3.5X0.6P| 1000
HANT-3-2 | 8-32 UNC
« Material: PC+ABS (UL)
« Flame Class: 94V-0
« Color: Blue
+ Unit: mm ~— @21 -
49 o

~

N

+
?8.8

MOUNTING HOLE
THICKNESS 1.6

e

Part No. | Package
HANA-1 500
Y
sk % 4& + BOX HANDLE Ak A e A o
- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
N
N b
= - 3
T
i #:F Part No. | Package
- 76 89 HAND-40 | 500
« Material: Nylon 66 (UL) Ak ARPCARZALHK -
« Flame Class: 94V-2/94V-0
« Color: Natural/Black/Green
« Unit: mm
o s s
1.5 1 © o
_ 8| 70 '8
=1 = =
| 73.8 i i MOUNTING HOLE i
@2
i : \“ : Part No. | Package
| %0 2 HAND-7 | 500




Rt AR B4 &L » HANDN26ARKL &

. Material: PE HAND-26B1% A » 41K F 18 o
- Color: Natural
« Unit: mm
(o]
—
==
<
OF
»‘ 3140
- 204 !
‘ 1
—
Part No. | Package Part No. | Package
HANDNZ26A 100 HAND-26B 100
- Material: PE Mg : AR EK&E > HAND-1&4&
. Co!or: Natural/Black HAND-2 R HAND-654 A » 41
< Unit: mm B HAE o
©
AT
I <
(=amimm==i— 3
AR ~
—— 127.66 —| 106"
24.57 Part No. | Package
| HAND-1 | 100
| 198 I
* :
—mmm— =L
B 87 B ? PartNo. | B | C | Package
HAND-2 |38.5/9.0
= == B HAND-65 26.2/8.4| 00
\ 188 | o
- Material: PE Rig: AR K& E > HAND-128 4
+ Color: Black HAND-134 B » 4% 7 18 -
« Unit: mm w0 ~
— G e
== %i :
(o2}
S
— i
_ 126216‘; 246 Part No. Package
' HAND-12 100
—J T i D) J
| 247.6 | &
©
'
) e crire
o |
-~ 11984 385 - S Part No. | Package
HAND-13 100
+
| 218 | &



5h %8 32 F BOX HANDLE

Ak AN &4 &L » HAND-120AB &

i - Material: PE HAND-120B4#2 A » 1K 5 1% -
~ « Color: Black
) b ":! - Unit: mm
. T PartNo. | Package
P, 55 NP Ln ‘ 168.62 ¥ HAND-120A 100
i
: 13
‘ 160 ! w

|
{ 3
< Part No. Package
T
gssj 148,97 HAND-120B| 100

- Material: PE A% AR E# 8L HAND-23A® &
« Color: Natura/Black HAND-23B4E B » 48% 5% o
« Unit: mm
b
(] T | ]];T"
4}3 Part No. | Package
/ F R HAND-23A 100
| 180 g
o
 Material: PP
+ Color: Natura/Black
+ Unit: mm g
Ty
— ©
] J 1

oo

Part No. | Package
HAND-23B| 100

i 161 i

T e Tl
112 5
Lo
—
'
t

- Material: PE Ri&: AR E% &L > HAND-14AR &
+ Color: Natural HAND-14B4& A » 4% 7 18 o
+ Unit: mm
|
(J )5S
f
R Part No. | Package
S HAND-14A| 100
| 180 ES

]
1
L]

I
4 21 |k

98 -1 PartNo. | Package
HAND-14B 100

| 160 L




Rig: AR E% &L » HAND-75AB S

_ , 2y H R
« Material: PE HAND-75Bf A » 4% % 1%
+ Color: Natural

« Unit: mm

<&f
N
L——Ll?.S

{

Part No. | Package
HAND-75A| 100

ﬂ

3.3
16.9

\ 184.9 \

+ Material: PP
« Color: Natural

il

[ ]
—
20 -

104.5 7

Part No. | Package
| HAND-75B 100
‘ 167 | LL
AR :AREEEE BEFIE -
« Material: PP
« Color: Natural/Black
« Unit: mm

Part No. | Package
CABOX-1 50
MOUNTING HOLE  MOUNTING HOLE
BERILAEREET
2 15
.=
<=} = \},:

60
2
i L
7 7 7

MOUNTING HOLE MOUNTING HOLE

MOUNTING HOLE

MOUNTING HOLE

MOUNTING HOLE MOUNTING HOLE

BERILA ERmEET BERILA LR/ ET HERIL LR ST
Part No. | Package Part No. | Package Part No. | Package
CABOX-3 50 CABOX-5 50 CABOX-6 40




st 4 42 BOX HANDLE Big: AREREE METIRE -

+ Material: PP
+ Color: Natural/Black
« Unit: mm

. e
f; } 77777777 i\
T LLH:H:UJ
? ‘ 110 ‘
8 H {UP & mﬁ@ Lc\‘)
f
T
S 90—
| %
T
MOUNTING HOLE
MOUNTING HOLE
Part No. | Package Part No. | Package
CABOX-7 50 CABOX-2 25
37 & 3= PACKING FASTENER Flig : AT BRI KR LR
+ Material: PP I AR
+ Color: Natural
+ Unit: mm
T
N

Part No. | Package

o #?» CTBX-1 | 250
S 111116
294 27
st 45 7 ey # BOX EDGE PROTECTOR Bk RS AT B o B AR A AT
 Material: PP SR S
« Color: Black
+ Unit: mm
30
L Part No. | Package
20 N CTBXA-1 1000

LﬁZZ




	3-類(全)
	3-00
	3-01
	3-02
	3-03
	3-04
	3-05
	3-06
	3-07
	3-08
	3-09
	3-10
	3-11
	3-12
	3-13
	3-14
	3-15
	3-16
	3-17
	3-18
	3-19
	3-20
	3-21
	3-22
	3-23
	3-24
	3-25
	3-26
	3-27
	3-28
	3-29
	3-30
	3-31
	3-32
	3-33
	3-34
	3-35
	3-36
	3-37
	3-38
	3-39
	3-40
	3-41
	3-42
	3-43
	3-44
	3-45
	3-46
	3-47


